# UNIVERSITATIS MARIAE CURIE-SKLODOWSKA LUBLIN-POLONIA 

VOL. XLIX, 9

SECTIO A 1995

## Jiří KLAŚKA (Brno)

## Partitions, Compositions and Divisibility


#### Abstract

The paper deals with the connection between partitions, compositions and divisibility. The main result is derivation of an identity connecting these three notions. This identity enables us to compute the number of partitions of an integer $n$.


1. Introduction. The basic notions occuring in this paper are already classical at this time. The exact definition of them can be found for example in [1], [4], [5] or [9]. In what follows we shall use the following standard notation. We shall denote by $\sigma(n)$ the sum of all divisors of $n$ and by $p(n)$ the number of partitions of $n$. As usual, we define $p(0):=1$. Further, $\mathcal{C}_{n}$ denotes the set of all compositions of $n$ and $\mathcal{C}_{n, k}$ the set of all compositions of $n$ to exactly $k$ summands. Finally, $N_{n}(k)$ represent the number of all numbers $k$ which occur in all $p(n)$ partitions of $n$.

The structure of the paper is as follows. We first derive a recurrence formula for the number of partitions of an integer $n$. This formula is of infinite order and reveals the connection of this problem with the area of divisibility. However, the connection between partitions and divisibility has been known already from Euler's works (see e.g. the monograph of Mac Mahon, [8]). On the other hand, the aim of this paper is to express this connection in the form of

[^0]the recurrence formula for $p(n)$. Moreover, we show that this connection can be clarified by means of simple and elementary methods. Furthermore, by means of the formula we derive a new expression of the generating function of the sequence of the number of partitions. It turns out that the final form of the generating function is exponential. Finally, from its development to the power series we obtain the principal result. The terminal identity, given by comparing the coefficients of power series, reveals the connection of partitions, compositions and divisibility.

We remark that in the proofs we shall use only standard and classical methods. In particular, we shall employ the machinery of power series, generating functions and elementary combinatorical techniques.
2. The recurrence formula for $p(n)$. The aim of this section is to prove the recurrence formula and its modification for the number $p(n)$ by means of elementary methods. We also demonstrate the computation by means of our formulas and compare with the wellknown Euler's formula (see Theorem 2). For the proof of Euler's formula see e.g. [1] or [10].

Theorem 1. For each positive integer $n$ we have the formula

$$
\begin{equation*}
p(n)=\frac{1}{n} \sum_{k=0}^{n-1} \sigma(n-k) p(k) \tag{1}
\end{equation*}
$$

Proof. Clearly, we have the following identity

$$
\begin{equation*}
\sum_{k=1}^{n} k \cdot N_{n}(k)=n \cdot p(n) . \tag{2}
\end{equation*}
$$

We first determine the value $N_{n}(k)$ for $1 \leq k \leq n$. Let $n=m_{k} \cdot k+z_{k}$, where $z_{k}<k$ is the remainder after division of $n$ by $k$ and $m_{k}$ is the partial quotient. Then we see that the number of all partitions of $n$, which contain at least $r$ numbers $k, 1 \leq r \leq m_{k}$, is $p(n-r k)$. Hence the number of all $k^{\prime} s$ in all $p(n)$ partitions is

$$
\begin{equation*}
N_{n}(k)=p(n-k)+\cdots+p\left(n-m_{k} k\right) . \tag{3}
\end{equation*}
$$

Further, the relations (2) and (3) together give the following formula for $p(n)$

$$
\begin{equation*}
p(n)=\frac{1}{n} \sum_{k=1}^{n} k\left(p(n-k)+\cdots+p\left(n-m_{k} k\right)\right) \tag{4}
\end{equation*}
$$

Now we simplify the formula (4). Let $0 \leq s \leq n-1$ be a natural number. Let us consider when $p(s)$ occurs among the members of the sum $p(n-k)+\cdots+p\left(n-m_{k} k\right)$, i.e. when $n-r \cdot k=s$ for some $1 \leq r \leq m_{k}$. Clearly, the relation $n-r \cdot k=s$ holds iff $k$ divides $n-s$. Therefore $p(s)$ occurs in all the sums $p(n-k)+\cdots+p\left(n-m_{k} k\right)$ where $k$ divides $n-s$. Then the number of all occurrances of $p(s)$ in the sum $\sum_{k=1}^{n} k\left(p(n-k)+\cdots+p\left(n-m_{k} k\right)\right)$ is exactly $\sigma(n-s)$, since $p(s)$ occurs in the sum $\sum_{k=1}^{n} k\left(p(n-k)+\cdots+p\left(n-m_{k} k\right)\right) k$ times for every natural divisor $k$ of the number $n-s$. Thus we have

$$
\sum_{k=1}^{n} k\left(p(n-k)+\cdots+p\left(n-m_{k} k\right)\right)=\sum_{s=0}^{n-1} \sigma(n-s) p(s)
$$

This completes the proof of (1).
Now we quite easily derive the following simple modification of the formula (1). Notice that the formula (1) and its modification (5) have the same form, but the coefficients are different.

Corollary 1. For each positive integer $n$ we have the formula

$$
\begin{equation*}
p(n)=\frac{1}{n} \sum_{k=0}^{n-1}(\sigma(1)+\cdots+\sigma(n-k)-k) p(k) \tag{5}
\end{equation*}
$$

Proof. By addition of the first $n$ formulas (1) we obtain

$$
\sum_{k=1}^{n} k p(k)=\sum_{k=0}^{n-1} p(k) \sum_{i=1}^{n-k} \sigma(i)
$$

Now an easy simplification yields (5).

Remark 1. The relation (3) from the proof of Theorem 1 gives another possibility for enumeration of $p(n)$. Indeed, from (3) it follows that $N_{n+1}(1)=p(0)+\cdots+p(n)$ and $N_{n}(1)=p(0)+\cdots+p(n-1)$. Hence by subtraction we find

$$
\begin{equation*}
p(n)=N_{n+1}(1)-N_{n}(1) . \tag{6}
\end{equation*}
$$

Now we introduce important and practical Euler's recurrent relations for the functions $p(n)$ and $\sigma(n)$.

Theorem 2 (Euler). For each positive integer $n$ we have

$$
\begin{align*}
& p(n)-p(n-1)-p(n-2)+p(n-5)+p(n-7) \\
& -p(n-12)-p(n-15)+\ldots \cdots+(-1)^{m} p\left(n-\frac{1}{2} m(3 m-1)\right)  \tag{7}\\
& +(-1)^{m} p\left(n-\frac{1}{2} m(3 m+1)\right)+\cdots=0
\end{align*}
$$

where we define $p(k)=0$ for every integer $k<0$.

Theorem 3 (Euler). For each positive integer $n$ we have

$$
\begin{aligned}
\sigma(n) & -\sigma(n-1)-\sigma(n-2)+\sigma(n-5)+\sigma(n-7)-\sigma(n-12) \\
& -\sigma(n-15)+\ldots \cdots+(-1)^{m} \sigma\left(n-\frac{1}{2} m(3 m-1)\right)
\end{aligned}
$$

$$
\begin{align*}
& +(-1)^{m} \sigma\left(n-\frac{1}{2} m(3 m+1)\right)+\ldots  \tag{8}\\
& = \begin{cases}(-1)^{k+1} n & \text { if } n=\left(3 k^{2} \pm k\right) / 2 \\
0 & \text { otherwise }\end{cases}
\end{align*}
$$

where we define $\sigma(k)=0$ for every integer $k \leqq 0$.

Example 1. We find the number of partitions of $n=5$ by means of (1), (5) and (7). We first compute $\sigma(1)=1, \sigma(2)=3, \sigma(3)=4$, $\sigma(4)=7, \sigma(5)=6$ and $p(0)=1, p(1)=1, p(2)=2, p(3)=3$ and $p(4)=5$. By recurrence (1) we have $p(5)=\frac{1}{5}(6 p(0)+7 p(1)+$ $4 p(2)+3 p(3)+p(4))=\frac{1}{5}(6+7+8+9+5)=7$. Analogously, using
(5) we have $p(5)=\frac{1}{5}(21 p(0)+14 p(1)+6 p(2)+p(3)-3 p(4))=$ $\frac{1}{5}(21+14+12+3-15)=7$. Finally, by recurrence (7) we have $p(5)=p(4)+p(3)-p(0)=5+3-1=7$.

Remark 2. We remark that the recurrences (1) and (5) are not practical for computation of the values $p(n)$. The best way to compute $p(n)$ is to use the well-known Euler's formula (7). We point out that our formulas (1) and (5) reveal the connection between the functions $p(n)$ and $\sigma(n)$, i.e. between partitions and divisibility. Recurrences for the computation of $\sigma(n)$ were studied by J. A. Ewell in [2] and [3]. But the best method for computing $\sigma(n)$ is applying the formula (8), which also comes from Euler. It turns out that there is an interesting analogy with $p(n)$ here (compare relations (7) and (8)). This is also proved in [9].
3. The generating function of the sequence $p(n)$. In this section we derive a new important form of the generating function of $p(n)$ by means of our recurrence (1). Let $P(x)=\sum_{n=0}^{\infty} p(n) x^{n}$ be the generating function of the sequence $p(n)$. Leonard Euler has proved that this function satisfies

$$
\begin{equation*}
P(x)=\prod_{n=1}^{\infty} \frac{1}{1-x^{n}}, \quad \text { where } \quad|x|<1 \tag{9}
\end{equation*}
$$

Remark 3. The series $\sum_{n=1}^{\infty} \sigma(n) x^{n}$ and $\sum_{n=1}^{\infty} \frac{\sigma(n)}{n} x^{n}$ converge for every $|x|<1$. To prove this, it suffices to use the comparison test and the root test.

Theorem 4. The generating function $P(x)$ of the sequence $p(n)$ satisfies

$$
\begin{equation*}
P(x)=e^{\sum_{n=1}^{\infty} \frac{\sigma(n)}{n} x^{n}}, \text { where }|x|<1 . \tag{10}
\end{equation*}
$$

Proof. Let $S(x)=\sum_{n=1}^{\infty} \sigma(n) x^{n}$ be the generating function of $\sigma(n)$. Multiplicating (1) by $n x^{n}$ and then evaluating the sum for
$n=1,2, \ldots$ we get

$$
\begin{aligned}
\sum_{n=1}^{\infty} n p(n) x^{n} & =\sum_{k=0}^{\infty}\left(p(k) \sum_{n=1}^{\infty} \sigma(n) x^{n+k}\right)=\sum_{k=0}^{\infty}\left(p(k) x^{k} \sum_{n=1}^{\infty} \sigma(n) x^{n}\right) \\
& =S(x) \sum_{k=0}^{\infty} p(k) x^{k}=S(x) P(x)
\end{aligned}
$$

Furthermore,

$$
\sum_{n=1}^{\infty} n p(n) x^{n}=x \cdot \sum_{n=1}^{\infty} n p(n) x^{n-1}=x P^{\prime}(x)
$$

This implies

$$
\begin{equation*}
x P^{\prime}(x)=S(x) P(x) \tag{11}
\end{equation*}
$$

Now (11) easily gives $\ln P(x)=\sum_{n=1}^{\infty} \frac{\sigma(n)}{n} x^{n}$, which is nothing else than (10). The theorem is proved.

From the expression (10) of the generating function of $p(n)$ one deduces easily the following estimates.

Corollary 2. Let $|x|<1$. Then the generating function $P(x)$ satisfies the following inequalities

$$
\begin{equation*}
e^{x /(1-x)}<P(x)<e^{x /(1-x)^{2}} \tag{12}
\end{equation*}
$$

Proof. We have $n \leq \sigma(n) \leq n^{2}$ for every natural number n . Then $\sum_{n=1}^{\infty} \frac{\sigma(n)}{n} x^{n} \geq \sum_{n=1}^{\infty} \frac{n}{n} x^{n} \geq \frac{1}{1-x}-1=\frac{x}{1-x}$ and on the other hand $\sum_{n=1}^{\infty} \frac{\sigma(n)}{n} x^{n} \leq \sum_{n=1}^{\infty} \frac{n^{2}}{n} x^{n}=x\left(\frac{x}{1-x}\right)^{\prime}=\frac{x}{(1-x)^{2}}$. This completes the proof.

## 4. Development of the generating function of $p(n)$ into power

 series. The aim of this section is to prove a new assertion, which is the principal result of this paper. The following identity (13) reveals the connection between partitions, compositions and divisibility. Thisresult turns out to be of theoretical importance most of all. Indeed, in one formula there are connected the number of partitions of an integer $n$, the set $\mathcal{C}_{n}$ of all compositions and the arithmetical multiplicative function $\sigma$. To prove the identity (13), we use the above deduced form (10) of the generating function $p(n)$, which we develop into power series.

Theorem 5. We have the following identity for the number $p(n)$

$$
\begin{equation*}
p(n)=\sum_{x_{1}+\cdots+x_{k} \in \mathcal{C}_{n}} \frac{1}{k!} \frac{\sigma\left(x_{1}\right)}{x_{1}} \ldots \frac{\sigma\left(x_{k}\right)}{x_{k}} . \tag{13}
\end{equation*}
$$

Proof. Let $F(x):=\sum_{n=1}^{\infty} \frac{\sigma(n)}{n} x^{n}$. Then (10) yields $P(x)=e^{F(x)}$. Let us develop function $P$ into the series of powers of the function $F$. We have

$$
P(x)=\sum_{m=0}^{\infty} \frac{F^{m}(x)}{m!}=\sum_{m=0}^{\infty} \frac{1}{m!}\left(\sum_{n=1}^{\infty} \frac{\sigma(n)}{n} x^{n}\right)^{m}
$$

Hence after involution of the series $F$ we obtain the development of function $P$ into the series of powers of $x$. Now we determine the coefficient by $x^{n}$ in the development of function $P$. Let $k$ be a natural number. Clearly, each member of the series $F^{k}$ arises as the product of $k$ factors. The general member of the series $F^{k}$ has the form

$$
\left(\frac{\sigma\left(x_{1}\right)}{x_{1}} x^{x_{1}}\right) \ldots\left(\frac{\sigma\left(x_{k}\right)}{x_{k}} x^{x_{k}}\right)=\frac{\sigma\left(x_{1}\right)}{x_{1}} \ldots \frac{\sigma\left(x_{k}\right)}{x_{k}} x^{x_{1}+\cdots+x_{k}} .
$$

If $k>m$, then there is no member with $x^{n}$ or with the lower power of $x$ in the series $F^{k}$, so that only a part of the series $\sum_{k=1}^{n} \frac{1}{k!} F^{k}$ contains members with $x^{n}$. Furthermore, in the series $F^{k}$ the coefficient $\frac{\sigma\left(x_{1}\right)}{x_{1}} \ldots \frac{\sigma\left(x_{k}\right)}{x_{k}}$ is by $x^{n}$ iff $x_{1}+\cdots+x_{k}=n$. Clearly, the number of coefficients with this property is equal to $\operatorname{card} \mathcal{C}_{n, k}$. So in the series $F^{k}$ the coefficient

$$
\sum_{x_{1}+\cdots+x_{k} \in \mathcal{C}_{n, k}} \frac{\sigma\left(x_{1}\right)}{x_{1}} \ldots \frac{\sigma\left(x_{k}\right)}{x_{k}}
$$

is by the member $x^{n}$ and finally in the series $\sum_{m=0}^{\infty} \frac{F^{m}}{m!}$ the coefficient

$$
\sum_{k=1}^{n} \frac{1}{k!} \sum_{x_{1}+\cdots+x_{k} \in \mathcal{C}_{n, k}} \frac{\sigma\left(x_{1}\right)}{x_{1}} \ldots \frac{\sigma\left(x_{k}\right)}{x_{k}}=\sum_{x_{1}+\cdots+x_{k} \in \mathcal{C}_{n}} \frac{1}{k!} \frac{\sigma\left(x_{1}\right)}{x_{1}} \ldots \frac{\sigma\left(x_{k}\right)}{x_{k}}
$$

is by $x^{n}$. By comparison of the coefficients by $x^{n}$ with the series $\sum_{n=0}^{\infty} p(n) x^{n}$ we obtain (13). This completes the proof.

At the end we present an example, which demonstrates the identity (13) for the case of an integer $n$.

Example 2. We find the number of partitions of $n=4$ by means our identity (13). We shall suppose that the values $\sigma(1)=1, \sigma(2)=3$, $\sigma(3)=4$ and $\sigma(4)=7$ are known. For enumeration of these numbers we can use Euler's formula (8). Now by identity (13) it holds

$$
\begin{aligned}
& \left.p(4)=\frac{1}{1!} \frac{\sigma(4)}{4}+\frac{1}{2!} \frac{\sigma(3)}{3} \frac{\sigma(1)}{1}+\frac{\sigma(1)}{1} \frac{\sigma(3)}{3}+\frac{\sigma(2)}{2} \frac{\sigma(2)}{2}\right)+ \\
& +\frac{1}{3!}\left(\frac{\sigma(2)}{2} \frac{\sigma(1)}{1} \frac{\sigma(1)}{1}+\frac{\sigma(1)}{1} \frac{\sigma(2)}{2} \frac{\sigma(1)}{1}+\frac{\sigma(1)}{1} \frac{\sigma(1)}{1} \frac{\sigma(2)}{2}\right)+ \\
& +\frac{1}{4!} \frac{\sigma(1)}{1} \frac{\sigma(1)}{1} \frac{\sigma(1)}{1} \frac{\sigma(1)}{1}=\frac{1}{1!} \frac{7}{4}+\frac{1}{2!} \frac{59}{12}+\frac{1}{3!} \frac{9}{2}+\frac{1}{4!} \frac{1}{1}=5 .
\end{aligned}
$$

Remark 4. Applications of the results of this paper and especially of the ideas of proofs can be founded in our work [7]. Here we study the connection between partitions and posets from the point of view of enumeration of the numbers $P_{n}$ of non-isomorphic posets.

## References

[1] Andrews, G. E., The Theory of Partitions, Wesley, 1976.
[2] Ewell, J. A., Recurrences for the sum of divisors, Proc. Amer. Math. Soc. 64 (1977), no. 2, 214-218.
[3] , Recursive determination of the sum-of-divisors function, Proc. Amer. Math. Soc. 73 (1979), 169-172.
[4] Fuchs, E., Combinatorics and the Graph Theory, (Czech), SPN, Praha, 1986. -, Partitions, Compositions and Cyclomatic Number of Function Lattices, The Fibonacci Quarterly 22 (1984), no. 1, 42-49.
[6] Hua, L. K., Introduction to Number Theory, Springer Verlag, Berlin, 1982.
[7] Klaška, J., Partitions and Partially Ordered Sets, Acta Math. Inf. Univ. Ostrav. 3 (to appear).
[8] MacMahon, P. A., Combinatory Analysis, reprinted by Chelsea, vol. 2, Cambridge University Press, New York, 1916, §303, 57-58.
[9] Niven, I., Formal power series, Amer. Math. Monthly 76 (1969), 871-889.
[10] Niven, I., H. S. Zuckerman and H. L. Montgomery, An Introduction to the Theory of Numbers, Wiley, New York, 1991.

Department of Mathematics,
received April 5, 1995
Technical University of Brno,
Technická 2, 61669 Brno, Czech Republic
e-mail: klaska@mat.fme.vutbr.cz


[^0]:    1991 Mathematics Subject Classification. 05A17, 11A25, 11P81.
    Key words and phrases. Partition, divisibility.

